बिहार स्टेट पावर ट्रांसमिषन कम्पनी लिमिटेड, पटना

निम्नांकित कार्यो की मुहरबंद निविदा आमंत्रित की जाती है। अल्पकालीन निविदा सूचना संख्या:- 80/PR/BSPTCL/2014

	कार्यों का विवरण	प्राक्कलित राशि	अग्रधन की राशि	परिमाण विपत्र का मूल्य (नहीं लौटाने योग्य)	कार्य पूरा करने की अवधि
1.	Construction of extension of control room at GSS Forbesganj for capacity augmentation work.	ক্ত 5,79,587.00	क्ता 11,600.00	ক্ত 1,250.00	3(Three)
2.	Construction of extension of control room at GSS Saharsa for capacity augmentation work.	ক্ত 4,49,500.00	क्तः 9,000.00	ক্ত 750.00	3(Three)
3.	Construction of extension of control room at GSS Dehri for capacity augmentation work.	ক্ত 8,47,040.00	रू० 17,000.00	ক্ত 1,250.00	3(Three)
निविदा ज	मा करने का समय 15.00 बजे तक दिनांक 27.10 <u>2014</u> प	खं निविदा का तकनीकी भाग	खुलने का समय उसी दि	न 15.30बजे।	1
कागजा पावर ट्र	दादाता की पात्रता, निविदा से संबंधित कागजात इत्यादि ब त के साथ पात्रता संबंधित कागजात, अग्रधन की राशि एव ांसमिषन कम्पनी लिमिटेड,,पटना को भुगतेय हो तकनीकी 1 प्रपत्र अधोहस्ताक्षरी के कार्यालय से निविदा देने की तिथि	i परिमाण विपत्र के मूल्य के एवं वाणिज्यकी भाग—1 के रू	रूप में कैश⁄डिमान्ड ड्राफ 11थ संलग्न करना अनिवार्य	ट जो वरीय प्रबंधक (वि० एव है अन्यथा निविदायें पूर्णतः र	i ले0) बिहार स्टेट द्द समझी जायेगी।

ज्ञापांक....../ पटना, दिनांक—————/ प्रतिलिपि— निविदा के 10 (दस) प्रतियों के साथ उपमहाप्रबंधक(जनसंपर्क), बिहार स्टेट पावर ट्रांसमिषन कम्पनी लिमिटेड, पटना_को राज्य के मुख्य दैनिक समाचार—पत्रों में प्रकाषन हेतु अग्रसारित।

मुख्य अभियंता(असैनिक)

बिहार स्टेट पावर ट्रांसमिषन क0 लि0, पटना

असैनिक विभाग

निविदा सूचना संख्या-----

Name of work:- Construction of extension of control room at GSS Forbesganj for capacity augmentation work. विषेष शर्ते:-

- 1. निविदा दो भाग में होगा– (क) पार्ट–1– तकनीकी एवं वाणिज्य भाग तथा (ख) पार्ट–2 दर भाग।
- 2. तकनीकी एवं वाणिज्य भाग में निम्नलिखित कागजात जमा करना होगाः--
 - (क) अग्रध राषि।
 - (ख)पूर्व वर्ष का आयकर का बकाया रहित प्रमाण पत्र।
 - (ग) स्थानीय सेवा शुल्क का प्रमाण पत्र (Local Service Tax)
 - (घ) आयकर संख्या (पैन)
 - (ड़) ठेका मजदूर प्रमाण पत्र।
- 3. दर भागः– इसमें केवल महीनवारी दर होगा।

साथ ही ये भी बतायें कि उक्त राषि का आधार क्या है ?

- 4 (क) दोनों भाग दो प्रति में मोहर बन्द लिफाफे में जमा करना है।
 - (ख) एक दर भाग का मोहर बन्द लिफाफे को एक तीसरे बड़े लिफाफे में डाल कर मोहर बन्द कर जमा करना है।

(घ) दर भाग के लिफाफा के उपर दर भाग एवं तकनीकी भाग के लिफाफा के उपर तकनीकी भाग लिखा होना चाहिए।

- (ड़) दोनों भाग कम्पनी द्वारा निर्धारित फॉर्मेट में भरना होगा।
- 5 निविदा जमा करने की अंतिम तिथि ----- को अपराहन 03.00 बजे तक है।
- 6 निविदा का तकनीकी भाग दिनांक—————— को अपराहन 03.30 बजे निविदाकर्ता या उनके प्राधिकृत प्रतिनिधि के सामने खोला जाएगा।
- 7 वित्तिय भाग में पथ निर्माण विभाग के पत्र सं0–2046(s) दिनांक–6.3.14 के आलोक के आधार पर 10 प्रतिषत से नीचे डाली गई राषि मान्य नही होगा।
- 8 अग्रधन की एवं जमानत की राषिः—
 - (क) अग्रधन की राषि के रूप में रू0- 11,600.00 जमा करना है।
 - (ख) अग्रधन राषि राष्ट्रीयकृत बैंक ड्राफ्ट के रूप में वरीय प्रबंधक, वित्त एवं लेखा बिहार स्टेट पावर ट्रांसमिषन कम्पनी लिमिटेड,पटना के पास जमा करना होगा।

(ग) सफल निविदाकर्ता को जमानत राषि जमा करना होगा।

(घ) जमानत की राषि निविदाकर्ता के कुल वार्षिक दर का दस (10) प्रतिषत होगा।

(ड़) जमानत राषि अग्रधन राषि से कम नही होगा।

(च) सफल निविदाकर्ता के अग्रधण राषि को जमानत की राषि में समायोजन कर दिया जाएगा एवं शेष बचे राषि को नगद जमा करना होगा।

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED, PATNA

1. N.I.T. No.

2. Name of Work	Construction of extension of control room at GSS Forbesganj for capacity
	augmentation work
3. Estimated Cost	Rs.5,79,587=00 only
4. Cost of B.O.Q.	Rs.1,250=00 only
5. Earnest Money	Rs.11,600=00 only
6. Date & time of receiving tender	
7. Date & time of opening tender	
8. Duration of work	3 (Three) month
Issued by	Issued to

M.R. No-

dated.

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED, PATNA CIVIL DEPARTMENT VIDYUT BHAWAN, BAILEY ROAD, PATNA

Tender Notice No-----

TECHNICAL PART

TENDER PERFORMA FOR TECHNICAL PART.

1

(A) Name of the firm	:-
(B) Registered office address :-	
(C) Established in Year	:-
(D) Name of the top Executive	:-
(E) Designation	:-
(F) Telephone Numbers	:-
(G) Fax Number	:-
(H) E-Mail	:-
(I) Mobile Number	:-

2. Whether registered with any other Public Sector/Private Sector/Govt. Dept.(If Yes, given particulars) for Execution of similar work(Attach separate sheet if necessary)

Sl. No.	Name of Agency	Year of Registration	Value of work	Remarks

3. Registration with statutory bodies. Enclose attested copy of documents in support of this:-

(A) Local Service Tax Number:-

(B) Income Tax Number (PAN):-

(C) Labour License:-

(D) Experience Certificate:- The bidder should have minimum 03 years experience in the last 05 years from the date of NIT in providing Housekeeping& Allied Services in the offices of Public Limited Company.

Sl. No.	Name of Organization	Time period of work	No. of Year	Value of work

(E) Earnest money:-

Name & Address of The Bank	Bank Draft or Money Receipt No.	Date of issue	Amount

(F) Date of amount paid towards purchase of Tender Document.

Money Receipt Number	Date of issue	Amount

4. Last Income Tax clearance certificate/ Return(Enclose copy):-

Amount paid to I.T.

5. Acceptance of the terms of payment :-

6. Acceptance of the Technical Requirement :-

7. Acceptance of the penalty clause :-

8. Remarks if any:-

Date-----

Signature of Tenderer with Stamp

Designation-----

Name of the Firm-----

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED							
		PRICI	E PAR'	Г-ІІ			
T	ENDER NOTICE NO.			80/PR/B	SPTCL/2014		
	Name of Work		Construction of extension of control room at GSS forbesganj for capacity augmentation work.				
	Estimated Cost	Rs. 5,79,5	587.00				
	Cost of B.O.Q.	Rs. 1,250	.00				
	Earnest Money	Rs. 11,600.00					
Da	ate & time of receiving tender	(upto 3:00 PM)					
Date	& time of opening tender	•••••	(upt	to 3:30 PN	(I)		
	Completion time	3(Three)	month	s (Worki	ng month)		
		Bill of	Quan	ntity			
Sl.no	Item of work	Quantity	Unit	Rate in Rs./Uni t	Rate in words Rs./Unit	Amount	
1	Demolishing brick work including stacking of serviceable materials and disposal of unserviceable materials within 50M lead	2.35	cum	388.10	Rupees Three Hundred Eighty Eight And Paise Ten Only	912.04	
2	Taking out doors, windows and clerestory window shutters (steel or wood) including stacking within 50 meters lead beyond 3 sqm	5.43	each	37.00	Rupees Thirty Seven Only	200.91	
3	Making 25 cm (10") dia bore up to 4 m depth below ground with hand auger of approved quality in ordinary soil (vide classification of soil item A) true to plumb and without ecentricity in any stage of operation and disposal of the excavated earth up to 50m lead including all lifts all complete as per approved design and direction of E/I.	48	М	80.4	Rupees Eighty And Paise Forty Only	3859.20	

4	63 CM (25") Under-Ream Making 63cm (25") dia under ream at required with hand auger of approved quality in ordinary soil (vide classification of soil item -A) true to plumb and without ecentricity in any stage of operation and disposal of the excavated earth upto 50M lead including all lifts all complete as per approved design and direction of E/I	12	Each	85.7	Rupees Eighty Five And Paise Seventy Only	1028.40
5	Supplying and filling in plinth with local sand and under floors including watering, ramming consolidating and dressing complete	0.477	Cum	186.3	Rupees One Hundred Eighty Six And Paise Thirty Only	88.87
6	Providing designation 100 A one brick flat soling joints filled with local sand including cost of watering ,taxes ,royality all complete as per building specification and direction of E/I.	6.095	Sqm	212.9	Rupees Two Hundred Twelve And Paise Ninety Only	1297.63
7	Providing and laying in position specified of RCC excluding the cost of centring ,shuttering ,finishing and reinforcement Allwork up to plinth level in 1:1.5:3 with 20mm nominal size	7.039	Cum	3851	Rupees Three Thousand Eight Hundred Fifty One Only	27107.19
8	(a)RCC work in wall ,piller ,column etc up to floor five excluding the cost of centring ,shuttering ,finishing and reinforcement in 1:1.5:3with 20mm nominal size	11.48	Cum	3903.4	Rupees Three Thousand Nine Hundred Three And Paise Forty Only	44811.03

9	Brick work with bricks of class designation 100A in Found &Plinth in cement mortar 1:4.	12.18	Cum	3914.6	Rupees Three Thousand Nine Hundred Fourteen And Paise Sixty Only	47679.83
10	Extra for Brick work in Super structure above plinth level up to floor V level as per direction of E/I.	7.76	Cum	378.8	Rupees Three Hundred Seventy Eight And Paise Eighty Only	2939.49
11	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with PVC/ neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge.(Cost of aluminium snap bading shall be paid in basic item.)With glass panes of 5.50 mm thickness(weight not less thar 13.75 kg/sqm)	22.31	Sqm	909.9	Rupees Nine Hundred Nine And Paise Ninety Only	20299.87
12	Providing 12 mm cement plaster of mix : 1:4	167	Sqm	90.7	Rupees Ninety And Paise Seventy Only	15146.90
13	6 mm cement plaster to ceiling of mix 1:3	40	Sqm	74	Rupees Seventy Four Only	2960.00
14	Neat cement punning	40	Sqm	25.9	Rupees Twenty Five And Paise Ninety Only	1036.00

15	Finishing walls with water proofing cement paint of approved brand and manufacture and of required shade to give an even shade New work (three or more coats) and Applying one coat of cement primer of approved brand andmanufacture on wall surface Cement primer	98	Sqm	73.8	Rupees Seventy Three And Paise Eighty Only	7232.40
16	Centring and Shuttering including strutting propping etc and removal of form for				Rupees Nil	0.00
	Columns, Pillars, Piers, Abutment, Posts and Strut as per direction of E/I and as per specification	24.44	Sqm	283.3	Rupees Two Hundred Eighty Three And Paise Thirty Only	6923.85
	Lintels,beams,plinth beams,girders,bressumers and cantilever.	104.64	Sqm	195.6	Rupees One Hundred Ninety Five And Paise Sixty Only	20467.58
17	Reinforcement for RCC work including straitghtening ,cutting,bending ,placing in position and binding complete				Rupees Nil	0.00
	(a)TMT 500 - 16mmdia	78.21	Kg	65.7	Rupees Sixty Five And Paise Seventy Only	5138.40
	(b)TMT 500 - 12mmdia	1120.46	Kg	65.1	Rupees Sixty Five And Paise Ten Only	72941.95
	(c)TMT 500 - 10mmdia	760.74	Kg	65.7	Rupees Sixty Five And Paise Seventy Only	49980.62
	(d)Mild Steel 6mm dia	235.15	Kg	63.4	Rupees Sixty Three And Paise Forty	14908.51

					Only	
18	Excavation work in foundation trenches or drains not exceeding 1.5 m in width or 10 sq.m on plan including dressing of sides and ramming of bottoms lift upto 1,5m, including getting cut the excavated soil and disposal of surplus excavated soiis as directed, within a lead of 50 m	17.33	Cum	299.3	Rupees Two Hundred Ninety Nine And Paise Thirty Only	5186.87
19	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering-all work upto plinth level. 1:2:4 (1 Cement: 2 coarse sand : 4 graded stone aggregate 40 mm nominal size)	5.52	Cum	3168.1	Rupees Three Thousand One Hundred Sixty Eight And Paise Ten Only	17487.91
20	Providing oil bound distemper with 69 m2 priming & POP	69	Sqm	145.5	Rupees One Hundred Forty Five And Paise Fifty Only	10039.50
21	Supplying 50X50X6mm MS Angle all Complete as per direction of E/I	16.2	Kg	52.16	Rupees Fifty Two And Paise Sixteen Only	844.99

22	Labour for cutting of MS angle iron post to required length ,one end splitted as fish tailed in a length of 150mm complete as per building Specification & direction of E/I	6	Each	13.4	Rupees Thirteen And Paise Forty Only	80.40
23	Removing mortar from bricks and cleaning bricks including stacking within a lead of 50M from bricks in cement mortar	2.35	cum	1285.1	Rupees One Thousand Two Hundred Eighty Five And Paise Ten Only	3019.99
24	6 mm trench cable cover of MS	489.84	Kg	77.1	Rupees Seventy Seven And Paise Ten Only	37766.66
25	Providing average 150mm thick dry rammed khoa beaten to 112mm(compacted with water) made of well burnt or jhama bricks including ramming properly till compacted thickness is achieved, curing and carriage of water with all leads, making proper slope and blinding the top with cement mortar (1: 10) all complete as per building specification and direction of E/l,	44.88	Sqm	283.5	Rupees Two Hundred Eighty Three And Paise Fifty Only	12723.48

26	Providing and laying vitrifed floor tiles in different sizes {thickness to be specified by the manufactruer) with water absorption's less than 0.08 % and conforming to IS : 15622 of approved make in all colours and shades, laid on 20 mm thick cement mortar 1:4 (1 cement: 4 coarse sand) including grouting the joint with white cement and matching pigments etc., complete.60x60 cm	44.88	Sqm	1575.4	Rupees One Thousand Five Hundred Seventy Five And Paise Forty Only	70703.95
24	Extra Carriage cost of Materials				Rupees Nil	0.00
	a) Stone Aggregate 20 mm size(260 KM Pucca)	20.65	Cum	3038.4	Rupees Three Thousand Thirty Eight And Paise Forty Only	62742.96
	b) Sand (254 KM Pucca)	15.21	Cum	2945.7	Rupees Two Thousand Nine Hundred Forty Five And Paise Sixty Six Only	44803.49
	C)Bricks(1 KM Katcha+ 7 KM Pucca)	5.43	Tho u	613.68	Rupees Six Hundred Thirteen And Paise Sixty Eight Only	3332.28
	d)Local Sand(1 KM Katcha+ 2 KM Pucca)	0.568	Cum	216.8	Rupees Two Hundred Sixteen And Paise Eighty Only	123.14
25	(A)Extra cost of cement	215	Bag	56.125	Rupees Fifty Six And Paise Twelve Only	12066.88

(B)Extra cost of Bricks	5.43	Tho u	310.33	Rupees Three Hundred Ten And Paise Thirty Three Only	1685.09	
			Total		579587.62	
Say Rs. 5,79,587.00						

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED, PATNA CIVIL DEPARTMENT <u>VIDYUT BHAWAN, BAILEY ROAD, PATNA</u>

Tender Notice No-----

PRICE PART

TENDER PERFORMA FOR PRICE PART.

1. Name and Address of the Firm:-

2. Rate in percent (Above or below) for entire scope of work including all material etc:-

(A) Amount in word:-

3. Description of amount:-

Date-----

Signature of Tenderer with Stamp

Designation----Name of the Firm-----

बिहार स्टेट पावर ट्रांसमिषन क0 लि0, पटना

असैनिक विभाग

निविदा सूचना संख्या-----

Name of work:- Construction of extension of control room at GSS Saharsa for capacity augmentation work. विषेष शर्ते:-

- 1. निविदा दो भाग में होगा– (क) पार्ट–1– तकनीकी एवं वाणिज्य भाग तथा (ख) पार्ट–2 दर भाग।
- 2. तकनीकी एवं वाणिज्य भाग में निम्नलिखित कागजात जमा करना होगाः--
 - (क) अग्रध राषि।
 - (ख)पूर्व वर्ष का आयकर का बकाया रहित प्रमाण पत्र।
 - (ग) स्थानीय सेवा शुल्क का प्रमाण पत्र (Local Service Tax)
 - (घ) आयकर संख्या (पैन)
 - (ड़) ठेका मजदूर प्रमाण पत्र।
- 3. दर भागः– इसमें केवल महीनवारी दर होगा।

साथ ही ये भी बतायें कि उक्त राषि का आधार क्या है ?

- 4 (क) दोनों भाग दो प्रति में मोहर बन्द लिफाफे में जमा करना है।
 - (ख) एक दर भाग का मोहर बन्द लिफाफे को एक तीसरे बड़े लिफाफे में डाल कर मोहर बन्द कर जमा करना है।

(घ) दर भाग के लिफाफा के उपर दर भाग एवं तकनीकी भाग के लिफाफा के उपर तकनीकी भाग लिखा होना चाहिए।

- (ड़) दोनों भाग कम्पनी द्वारा निर्धारित फॉर्मेट में भरना होगा।
- 5 निविदा जमा करने की अंतिम तिथि ----- को अपराहन 03.00 बजे तक है।
- 6 निविदा का तकनीकी भाग दिनांक—————— को अपराहन 03.30 बजे निविदाकर्ता या उनके प्राधिकृत प्रतिनिधि के सामने खोला जाएगा।
- 7 वित्तिय भाग में पथ निर्माण विभाग के पत्र सं0–2046(s) दिनांक–6.3.14 के आलोक के आधार पर 10 प्रतिषत से नीचे डाली गई राषि मान्य नही होगा।
- 8 अग्रधन की एवं जमानत की राषिः—
 - (क) अग्रधन की राषि के रूप में रू०– 9,000.00 जमा करना है।
 - (ख) अग्रधन राषि राष्ट्रीयकृत बैंक ड्राफ्ट के रूप में वरीय प्रबंधक, वित्त एवं लेखा बिहार स्टेट पावर ट्रांसमिषन कम्पनी लिमिटेड,पटना के पास जमा करना होगा।

(ग) सफल निविदाकर्ता को जमानत राषि जमा करना होगा।

(घ) जमानत की राषि निविदाकर्ता के कुल वार्षिक दर का दस (10) प्रतिषत होगा।

(ड़) जमानत राषि अग्रधन राषि से कम नही होगा।

(च) सफल निविदाकर्ता के अग्रधण राषि को जमानत की राषि में समायोजन कर दिया जाएगा एवं शेष बचे राषि को नगद जमा करना होगा।

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED, PATNA

1. N.I.T. No.

2. Name of Work	Construction of extension of control room at GSS Forbesganj for capacity
	augmentation work
3. Estimated Cost	Rs. 4,49,500=00 only
4. Cost of B.O.Q.	Rs. 750=00 only
5. Earnest Money	Rs. 9,000=00 only
6. Date & time of receiving tender	
7. Date & time of opening tender	
8. Duration of work	3 (Three) Month
Issued by	Issued to

M.R. No-

dated.

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED, PATNA CIVIL DEPARTMENT VIDYUT BHAWAN, BAILEY ROAD, PATNA

Tender Notice No-----

TECHNICAL PART

TENDER PERFORMA FOR TECHNICAL PART.

1

(A) Name of the firm	:-
(B) Registered office address :-	
(C) Established in Year	:-
(D) Name of the top Executive	:-
(E) Designation	:-
(F) Telephone Numbers	:-
(G) Fax Number	:-
(H) E-Mail	:-
(I) Mobile Number	:-

2. Whether registered with any other Public Sector/Private Sector/Govt. Dept.(If Yes, given particulars) for Execution of similar work(Attach separate sheet if necessary)

Sl. No.	Name of Agency	Year of Registration	Value of work	Remarks

3. Registration with statutory bodies. Enclose attested copy of documents in support of this:-

(A) Local Service Tax Number:-

(B) Income Tax Number (PAN):-

(C) Labour License:-

(D) Experience Certificate:- The bidder should have minimum 03 years experience in the last 05 years from the date of NIT in providing Housekeeping& Allied Services in the offices of Public Limited Company.

Sl. No.	Name of Organization	Time period of work	No. of Year	Value of work

(E) Earnest money:-

Name & Address of The Bank	Bank Draft or Money Receipt No.	Date of issue	Amount

(F) Date of amount paid towards purchase of Tender Document.

Money Receipt Number	Date of issue	Amount

4. Last Income Tax clearance certificate/ Return(Enclose copy):-

Amount paid to I.T.

5. Acceptance of the terms of payment :-

6. Acceptance of the Technical Requirement :-

7. Acceptance of the penalty clause :-

8. Remarks if any:-

Date-----

Signature of Tenderer with Stamp

Designation-----

Name of the Firm-----

	BIHAR STATE POWER TRANSMISSION COMPANY LIMITED						
	PRICE PART-II						
T	ENDER NOTICE NO.			80/PR	/BSPTCL/2014		
	Name of Work				n of control room at augmentation work		
	Estimated Cost	Rs. 4,49,	500.00				
	Cost of B.O.Q.	Rs. 750.0	0				
	Earnest Money	Rs. 9,000.00					
Da	ate & time of receiving tender	(upto 3:00 PM)					
Date	& time of opening tender	••••••	(upt	to 3:30 PN	()		
	Completion time	6(Six) mo	onths (Working	month)		
	Bill of Quantity						
Sl.no	Item of work	Quantity	Unit	Rate in Rs./Uni t	Rate in words Rs./Unit	Amount	
1	Demolishing brick work including stacking of serviceable materials and disposal of unserviceable materials within 50M lead	2.78	cum	388.10	Rupees Three Hundred Eighty Eight And Paise Ten Only	1078.92	
2	Taking out doors, windows and clerestory window shutters (steel or wood) including stacking within 50 meters lead beyond 3 sqm	17.28	each	37.00	Rupees Thirty Seven Only	639.36	
3	Making 25 cm (10") dia bore up to 4 m depth below ground with hand auger of approved quality in ordinary soil (vide classification of soil item A) true to plumb and without ecentricity in any stage of operation and disposal of the excavated earth up to 50m lead including all lifts all complete as per approved design and direction of E/I.	48	М	80.4	Rupees Eighty And Paise Forty Only	3859.20	

4	63 CM (25") Under-Ream Making 63cm (25") dia under ream at required with hand auger of approved quality in ordinary soil (vide classification of soil item -A) true to plumb and without ecentricity in any stage of operation and disposal of the excavated earth upto 50M lead including all lifts all complete as per approved design and direction of E/I	12	Each	85.7	Rupees Eighty Five And Paise Seventy Only	1028.40
5	Supplying and filling in plinth with local sand and under floors including watering, ramming consolidating and dressing complete	0.38	Cum	186.3	Rupees One Hundred Eighty Six And Paise Thirty Only	70.79
6	Providing designation 100 A one brick flat soling joints filled with local sand including cost of watering ,taxes ,royality all complete as per building specification and direction of E/I.	4.89	Sqm	212.9	Rupees Two Hundred Twelve And Paise Ninety Only	1041.08
7	Providing and laying in position specified of RCC excluding the cost of centring ,shuttering ,finishing and reinforcement Allwork up to plinth level in 1:1.5:3 with 20mm nominal size	6.704	Cum	3851	Rupees Three Thousand Eight Hundred Fifty One Only	25817.10
8	(a)RCC work in wall ,piller ,column etc up to floor five excluding the cost of centring ,shuttering ,finishing and reinforcement in 1:1.5:3with 20mm nominal size	8.55	Cum	3903.4	Rupees Three Thousand Nine Hundred Three And Paise Forty Only	33374.07

9	Brick work with bricks of class designation 100A in Found &Plinth in cement mortar 1:4.	7	Cum	3914.6	Rupees Three Thousand Nine Hundred Fourteen And Paise Sixty Only	27402.20
10	Extra for Brick work in Super structure above plinth level up to floor V level as per direction of E/I.	3.75	Cum	378.8	Rupees Three Hundred Seventy Eight And Paise Eighty Only	1420.50
11	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with PVC/ neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge.(Cost of aluminium snap bading shall be paid in basic item.)With glass panes of 5.50 mm thickness(weight not less thar 13.75 kg/sqm)	13.93	Sqm	909.9	Rupees Nine Hundred Nine And Paise Ninety Only	12674.91
12	Providing 12 mm cement plaster of mix : 1:4	120.02	Sqm ·	90.7	Rupees Ninety And Paise Seventy Only	10885.81
13	6 mm cement plaster to ceiling of mix 1:3	24	Sqm	74	Rupees Seventy Four Only	1776.00
14	Neat cement punning	24	Sqm	25.9	Rupees Twenty Five And Paise Ninety Only	621.60
15	Finishing walls with water proofing cement paint of approved brand and manufacture and of required shade to give an even shade New work (three or more coats) and Applying one coat of cement primer of approved brand andmanufacture on wall surface Cement primer	76.83	Sqm	73.8	Rupees Seventy Three And Paise Eighty Only	5670.05

16	Centring and Shuttering including strutting propping etc and removal of form for				Rupees Nil	0.00
	Columns, Pillars, Piers, Abutment, Posts and Strut as per direction of E/I and as per specification	25.14	Sqm	283.3	Rupees Two Hundred Eighty Three And Paise Thirty Only	7122.16
	Lintels,beams,plinth beams,girders,bressumers and cantilever.	78	Sqm	195.6	Rupees One Hundred Ninety Five And Paise Sixty Only	15256.80
17	Reinforcement for RCC work including straitghtening ,cutting,bending ,placing in position and binding complete				Rupees Nil	0.00
	(a)TMT 500 - 16mmdia	49.77	Kg	65.7	Rupees Sixty Five And Paise Seventy Only	3269.89
	(b)TMT 500 - 12mmdia	1042.64	Kg	65.1	Rupees Sixty Five And Paise Ten Only	67875.86
	(c)TMT 500 - 10mmdia	459.42	Kg	65.7	Rupees Sixty Five And Paise Seventy Only	30183.89
	(d)Mild Steel 6mm dia	192.54	Kg	63.4	Rupees Sixty Three And Paise Forty Only	12207.04
18	Excavation work in foundation trenches or drains not exceeding 1.5 m in width or 10 sq.m on plan including dressing of sides and ramming of bottoms lift upto 1,5m, including getting cut the excavated soil and disposal of surplus excavated soiis as directed, within a lead of 50 m	17.33	Cum	299.3	Rupees Two Hundred Ninety Nine And Paise Thirty Only	5186.87

19	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering-all work upto plinth level. 1:2:4 (1 Cement: 2 coarse sand : 4 graded stone aggregate 40 mm nominal size)	3.92	Cum	3168.1	Rupees Three Thousand One Hundred Sixty Eight And Paise Ten Only	12418.95
20	Providing oil bound distemper with 69 m2 priming & POP	67.2	Sqm	145.5	Rupees One Hundred Forty Five And Paise Fifty Only	9777.60
21	Supplying 50X50X6mm MS Angle all Complete as per direction of E/I	16.2	Kg	52.16	Rupees Fifty Two And Paise Sixteen Only	844.99
22	Labour for cutting of MS angle iron post to required length ,one end splitted as fish tailed in a length of 150mm complete as per building Specification & direction of E/I	6	Each	13.4	Rupees Thirteen And Paise Forty Only	80.40
23	Removing mortar from bricks and cleaning bricks including stacking within a lead of 50M from bricks in cement mortar	2.78	cum	1285.1	Rupees One Thousand Two Hundred Eighty Five And Paise Ten Only	3572.58
24	6 mm trench cable cover of MS	489.84	Kg	77.1	Rupees Seventy Seven And Paise Ten Only	37766.66

25	Providing average 150mm thick dry rammed khoa beaten to 112mm(compacted with water) made of well burnt or jhama bricks including ramming properly till compacted thickness is achieved, curing and carriage of water with all leads, making proper slope and blinding the top with cement mortar (1: 10) all complete as per building specification and direction of E/l,	28.88	Sqm	283.5	Rupees Two Hundred Eighty Three And Paise Fifty Only	8187.48
26	Providing and laying vitrifed floor tiles in different sizes {thickness to be specified by the manufactruer) with water absorption's less than 0.08 % and conforming to IS : 15622 of approved make in all colours and shades, laid on 20 mm thick cement mortar 1:4 (1 cement: 4 coarse sand) including grouting the joint with white cement and matching pigments etc., complete.60x60 cm	28.88	Sqm	1575.4	Rupees One Thousand Five Hundred Seventy Five And Paise Forty Only	45497.55
27	Extra Carriage cost of Materials				Rupees Nil	0.00
	a) Stone Aggregate 20 mm size(180 KM Pucca)	16.87	Cum	2128.7	#NAME?	35911.17
	b) Sand (100 KM Pucca)	11.06	Cum	1245.5	Rupees One Thousand Two Hundred Forty Five And Paise Fifty Only	13775.23
	C)Bricks(1 KM Katcha+ 7 KM Pucca)	3.166	Tho u	613.68	Rupees Six Hundred Thirteen And Paise Sixty	1942.91

					Eight Only	
	d)Local Sand(1 KM Katcha+ 2 KM Pucca)	0.45	Cum	216.8	Rupees Two Hundred Sixteen And Paise Eighty Only	97.56
28	(A)Extra cost of cement	180	Bag	56.125	Rupees Fifty Six And Paise Twelve Only	10102.50
	(B)Extra cost of Bricks	3.166	Tho u	310.33	Rupees Three Hundred Ten And Paise Thirty Three Only	982.50
				Total		449420.61
		Say R	s. 4,49,	500.00		

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED, PATNA CIVIL DEPARTMENT <u>VIDYUT BHAWAN, BAILEY ROAD, PATNA</u>

Tender Notice No-----

PRICE PART

TENDER PERFORMA FOR PRICE PART.

1. Name and Address of the Firm:-

2. Rate in percent (Above or below) for entire scope of work including all material etc:-

(A) Amount in word:-

3. Description of amount:-

Date-----

Signature of Tenderer with Stamp

Designation----Name of the Firm-----

बिहार स्टेट पावर ट्रांसमिषन क0 लि0, पटना

असैनिक विभाग

निविदा सूचना संख्या-----

Name of work:- Construction of extension of control room at GSS Dehri for capacity augmentation work. विषेष शर्ते:-

- 1. निविदा दो भाग में होगा– (क) पार्ट–1– तकनीकी एवं वाणिज्य भाग तथा (ख) पार्ट–2 दर भाग।
- 2. तकनीकी एवं वाणिज्य भाग में निम्नलिखित कागजात जमा करना होगाः–
 - (क) अग्रध राषि।
 - (ख)पूर्व वर्ष का आयकर का बकाया रहित प्रमाण पत्र।
 - (ग) स्थानीय सेवा शुल्क का प्रमाण पत्र (Local Service Tax)
 - (घ) आयकर संख्या (पैन)
 - (ड़) ठेका मजदूर प्रमाण पत्र।
- 3. दर भागः– इसमें केवल महीनवारी दर होगा।

साथ ही ये भी बतायें कि उक्त राषि का आधार क्या है ?

- 4 (क) दोनों भाग दो प्रति में मोहर बन्द लिफाफे में जमा करना है।
 - (ख) एक दर भाग का मोहर बन्द लिफाफे को एक तीसरे बड़े लिफाफे में डाल कर मोहर बन्द कर जमा करना है।

(घ) दर भाग के लिफाफा के उपर दर भाग एवं तकनीकी भाग के लिफाफा के उपर तकनीकी भाग लिखा होना चाहिए।

- (ड़) दोनों भाग कम्पनी द्वारा निर्धारित फॉर्मेट में भरना होगा।
- 5 निविदा जमा करने की अंतिम तिथि ----- को अपराहन 03.00 बजे तक है।
- 6 निविदा का तकनीकी भाग दिनांक—————— को अपराहन 03.30 बजे निविदाकर्ता या उनके प्राधिकृत प्रतिनिधि के सामने खोला जाएगा।
- 7 वित्तिय भाग में पथ निर्माण विभाग के पत्र सं0–2046(s) दिनांक–6.3.14 के आलोक के आधार पर 10 प्रतिषत से नीचे डाली गई राषि मान्य नही होगा।
- 8 अग्रधन की एवं जमानत की राषिः—
 - (क) अग्रधन की राषि के रूप में रू0- 17,000.00 जमा करना है।
 - (ख) अग्रधन राषि राष्ट्रीयकृत बैंक ड्राफ्ट के रूप में वरीय प्रबंधक, वित्त एवं लेखा बिहार स्टेट पावर ट्रांसमिषन कम्पनी लिमिटेड,पटना के पास जमा करना होगा।

(ग) सफल निविदाकर्ता को जमानत राषि जमा करना होगा।

(घ) जमानत की राषि निविदाकर्ता के कुल वार्षिक दर का दस (10) प्रतिषत होगा।

(ड़) जमानत राषि अग्रधन राषि से कम नही होगा।

(च) सफल निविदाकर्ता के अग्रधण राषि को जमानत की राषि में समायोजन कर दिया जाएगा एवं शेष बचे राषि को नगद जमा करना होगा।

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED, PATNA

1. N.I.T. No.

2. Name of Work	Construction of extension of control room at GSS Dehri for capacity
	augmentation work
3. Estimated Cost	Rs.8,47,040=00 only
4. Cost of B.O.Q.	Rs.1,250=00 only
5. Earnest Money	Rs.17,000=00 only
6. Date & time of receiving tender	
7. Date & time of opening tender	
8. Duration of work	3 (Three) month
Issued by	Issued to

M.R. No-

dated.

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED, PATNA CIVIL DEPARTMENT VIDYUT BHAWAN, BAILEY ROAD, PATNA

Tender Notice No-----

TECHNICAL PART

TENDER PERFORMA FOR TECHNICAL PART.

1

(A) Name of the firm	:-
(B) Registered office address :-	
(C) Established in Year	:-
(D) Name of the top Executive	:-
(E) Designation	:-
(F) Telephone Numbers	:-
(G) Fax Number	:-
(H) E-Mail	:-
(I) Mobile Number	:-

2. Whether registered with any other Public Sector/Private Sector/Govt. Dept.(If Yes, given particulars) for Execution of similar work(Attach separate sheet if necessary)

Sl. No.	Name of Agency	Year of Registration	Value of work	Remarks

3. Registration with statutory bodies. Enclose attested copy of documents in support of this:-

(A) Local Service Tax Number:-

(B) Income Tax Number (PAN):-

(C) Labour License:-

(D) Experience Certificate:- The bidder should have minimum 03 years experience in the last 05 years from the date of NIT in providing Housekeeping& Allied Services in the offices of Public Limited Company.

Sl. No.	Name of Organization	Time period of work	No. of Year	Value of work

(E) Earnest money:-

Name & Address of The Bank	Bank Draft or Money Receipt No.	Date of issue	Amount

(F) Date of amount paid towards purchase of Tender Document.

Money Receipt Number	Date of issue	Amount

4. Last Income Tax clearance certificate/ Return(Enclose copy):-

PAN No.	Amount paid to I.T.

5. Acceptance of the terms of payment :-

6. Acceptance of the Technical Requirement :-

7. Acceptance of the penalty clause :-

8. Remarks if any:-

Date-----

Signature of Tenderer with Stamp

Designation-----

Name of the Firm-----

	BIHAR STATE PO	WER TRAM	SMIS		IPANY LIMITED		
		PRIC	E PAR'	Г-ІІ			
T	ENDER NOTICE NO.			80/PR/BS	SPTCL/2014		
	Name of Work	Construc	tion of	extension	of control room at (GSS Dehri.	
	Estimated Cost	Rs. 8,47,0	40.00				
	Cost of B.O.Q.	Rs. 1,250.	00				
	Earnest Money	Rs. 17,000).00				
Da	ate & time of receiving tender	•••••	(upto	3:00 PM)			
Date	& time of opening tender	•••••	(upto	3:30 PM)			
	Completion time	3(Three)	months	(Working	g month)		
Bill of Quantity							
Sl.no	Item of work	Quantity	Unit	Rate in Rs./Unit	Rate in words Rs./Unit	Amount	
1	Demolishing brick work including stacking of serviceable materials and disposal of unserviceable materials within 50M lead	8.3	cum	388.10	Rupees Three Hundred Eighty Eight And Paise Ten Only	3221.23	
2	Making 25 cm (10") dia bore up to 4 m depth below ground with hand auger of approved quality in ordinary soil (vide classification of soil item A) true to plumb and without ecentricity in any stage of operation and disposal of the excavated earth up to 50m lead including all lifts all complete as per approved design and direction of E/I.	85.5	М	80.4	Rupees Eighty And Paise Forty Only	6874.20	

3	63 CM (25") Under-Ream Making 63cm (25") dia under ream at required with hand auger of approved quality in ordinary soil (vide classification of soil item -A) true to plumb and without ecentricity in any stage of operation and disposal of the excavated earth upto 50M lead including all lifts all complete as per approved design and direction of E/I	48	Each	85.7	Rupees Eighty Five And Paise Seventy Only	4113.60
4	Supplying and filling in plinth with local sand and under floors including watering, ramming consolidating and dressing complete	40.21	Cum	186.3	Rupees One Hundred Eighty Six And Paise Thirty Only	7491.12
5	Providing designation 100 A one brick flat soling joints filled with local sand including cost of watering ,taxes ,royality all complete as per building specification and direction of E/I.	92.77	Sqm.	212.9	Rupees Two Hundred Twelve And Paise Ninety Only	19750.73
6	Providing and laying in position specified of RCC excluding the cost of centring ,shuttering ,finishing and reinforcement Allwork up to plinth level in 1:1.5:3 with 20mm nominal size	11.41	Cum	3851	Rupees Three Thousand Eight Hundred Fifty One Only	43939.91
7	(a)RCC work in wall ,piller ,column etc up to floor five excluding the cost of centring ,shuttering ,finishing and reinforcement in 1:1.5:3with 20mm nominal size	5.5	Cum	3903.4	Rupees Three Thousand Nine Hundred Three And Paise Forty Only	21468.70

8	Reinforced cement conrete work in beams, suspended floors, roofs having slope upto 15, landings, balconiec, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases upto floor five level excludingthe cost of centring, shuttering, finishing and reinforement with 1:1.5:3 (1 cement:1.5 coarse sand:3 graded stone aggregate 20 mm nominal size).	19.46	Cum	3771.22		73387.94
9	Brick work with bricks of class designation 100A in Found &Plinth in cement mortar 1:6.	1.5	Cum	3713.5	Rupees Three Thousand Seven Hundred Thirteen And Paise Fifty Only	5570.25
10	Brick work with bricks of class designation 100A in superstructure in cement mortar 1:6.	14.4	Cum	4092.3	Rupees Four Thousand Ninety Two And Paise Thirty Only	58929.12
11	Providing and fixing anodised aluminium work for doors, windows, ventilator and partitions with extruded built up standard tubular and otner sections of approved make conforming to IS : 733 and IS : 1285,anodised trasparent or dyed to required shade according to IS : 1868,(Minimum anodic coating of grade AC 15), fixed with.rawl plugs and screws or with fixing clips , or with	46.39	Kg	384.35	Rupees Three Hundred Eighty Four And Paise Thirty Five Only	17830.00

	expansion hold fastners including necessary filling up of gaps at junctions, at top, bottom and sides with required PVC/neoprene felt etc. Aluminium sections shall be smooth, rust fre straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading tor glazing/paneling, C.P. brass/stainless steel screws, all complete as per architecttural drawings and the directions of Engineer-in- charge.(Glazing and panelling to be paid for separately.)					
12	Providing 12 mm cement plaster of mix : 1:6	200.7	Sqm.	79.1	Rupees Seventy Nine And Paise Ten Only	15875.37
13	6 mm cement plaster to ceiling of mix 1:4	84	Sqm.	68.2	Rupees Sixty Eight And Paise Twenty Only	5728.80
14	Finishing walls with water proofing cement paint of approved brand and manufacture and of required shade to give an even shade New work (three or more coats)	124.72	Sqm.	51.7	Rupees Fifty One And Paise Seventy Only	6448.02
15	Centring and Shuttering including strutting propping etc and removal of form for				Rupees Nil	0.00

	Columns, Pillars, Piers, Abutment, Posts and Strut as per direction of E/I and as per specification	30	Sqm.	283.3	Rupees Two Hundred Eighty Three And Paise Thirty Only	8499.00
	Lintels,beams,plinth beams,girders,bressumers and cantilever.	72.3	Sqm.	195.6	Rupees One Hundred Ninety Five And Paise Sixty Only	14141.88
	Chajja	8.91	Sqm.	355.2		3164.83
	Suspended Floor Roof	84	Sqm.	229.8		19303.20
16	Reinforcement for RCC work including straitghtening ,cutting,bending ,placing in position and binding complete				Rupees Nil	0.00
	(a)TMT 500 - 20mmdia	928.11		65.5		60791.21
	(b)TMT 500 - 16mmdia	686.38	Kg	65.7	Rupees Sixty Five And Paise Seventy Only	45095.17
	(c)TMT 500 - 12mmdia	615.9	Kg	65.1	Rupees Sixty Five And Paise Ten Only	40095.09
	(d)TMT 500 - 10mmdia	2314.67	Kg	65.7	Rupees Sixty Five And Paise Seventy Only	152073.82
	(e)Mild Steel 8mm dia	552.24	Kg	67	Rupees Sixty Seven Only	37000.08
17	Providing 150mm wide brick drain in cement mortar (1:6) with av. 150mm clear depth and 125mm apron concrete (1: 4:8), over one brick designation 100-A flat soling in proper grade and slope at the base, the drain duly plastered in CM. (1:3) with punning over exposed surface all	21	m	434.8	Rupees Four Hundred Thirty Four And Paise Eighty Only	9130.80

	complete as per building specification and direction of E/l,					
18	Providing and laying in position cement concrete of specifiedgrade excluding the cost of centring and shuttering-all work upto plinth level. 1:2:4 (1 Cement: 2 coarse sand : 4 graded stone aggregate 40mm nominal size)	6.9	Cum.	3168.1	Rupees Three Thousand One Hundred Sixty Eight And Paise Ten Only	21859.89
19	Providing oil bound distemper with 69 m2 priming & POP	66.9	Sqm.	122.3	Rupees One Hundred Twenty Two And Paise Thirty Only	8181.87

	mix 1:4 (1 cement: 4 coarse sand) admixed with proprietary water proofing compound conforming to IS : 2645 and finally finishing					
21	Providing and fixing wall face UPVC RWD pipe in 110 mm dia	26.4	m	178.63	Rupees One Hundred Seventy Eight And Paise Sixty Three Only	4715.83
22	Providing and fixing wall face UPVC moulded fitting for RWD pipe in 110 mm dia band	6	Each	131.56	Rupees One Hundred Thirty One And Paise Fifty Six Only	789.36
23	Providing and fixing wall face UPVC RWD pipe in 110 mm dia shoe	6	Each	286.97	Rupees Two Hundred Eighty Six And Paise Ninety Seven Only	1721.82
24	Providing and fixing wall face UPVC RWD pipe clip	18	Each	43.16	Rupees Forty Three And Paise Sixteen Only	776.88

		Say Rs	. 8,47,04	10.00		
				Total		847036. 32
	C)Bricks(1 KM Katcha+ 7 KM Pucca)	7.305	Thou	613.68	Rupees Six Hundred Thirteen And Paise Sixty Eight Only	4482.93
	b) Sand (8 KM Pucca)	26.25	Cum	256.32	Rupees Two Hundred Fifty Six And Paise Thirty Two Only	6728.40
	a) Stone Aggregate 20 mm size(90 KM Pucca)	37.48	Cum	1161.6	Rupees One Thousand One Hundred Sixty One And Paise Sixty Only	43536.77
27	Extra Carriage cost of Materials				Rupees Nil	0.00
26	Providing and fixing of Renewing glass panes, with putty and nails wherever necessary Float glass panes weighing 13.75 kg/m2 (5.5mm thick glass)	5	Sqm.	751.7		3758.50
25	Providing average 150mm thick dry rammed khoa beaten to 112mm(compacted with water) made of well burnt or jhama bricks including ramming properly till compacted thickness is achieved, curing and carriage of water with all leads, making proper slope and blinding the top with cement mortar (1: 10) all complete as per building specification and direction of E/l,	84	Sqm.	283.5	Rupees Two Hundred Eighty Three And Paise Fifty Only	23814.00

BIHAR STATE POWER TRANSMISSION COMPANY LIMITED, PATNA CIVIL DEPARTMENT <u>VIDYUT BHAWAN, BAILEY ROAD, PATNA</u>

Tender Notice No-----

PRICE PART

TENDER PERFORMA FOR PRICE PART.

1. Name and Address of the Firm:-

2. Rate in percent (Above or below) for entire scope of work including all material etc:-

(A) Amount in word:-

3. Description of amount:-

Date-----

Signature of Tenderer with Stamp

Designation----Name of the Firm-----